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N.B.: (1) Question No. 1 is compulsory.
(2) Attempt any three from the remaining questions.
(3) Assume suitable data if necessary.
(4) Figures to the right indicate full marks.

1. (a) What is the role of an automata in compiler design. 5
(b) Elliminate Left recursion in the following grammar (Remove Jg)‘u:ect and 5
Indirect recursion ) e ‘
S—Aa|b : -
A-yAc|Sdis

(c) What is an activation record? Draw diagram of Gcneﬂai ‘Activation record 5
and explain the purpose of different fields of an actm@taon record.
(d) What is the difference between Compiler and Intem‘zeter 5

2. (a) EXplain with an exampie Quadruples , Tr1pleg¥1ndlrect triples. lﬁ
(b) What is the difference between Dynamnc L@admg and Dynatmc Linking 10
' explam with an example

i "t
o

3. (a) Write a note on JAVA compiler envi_gé‘t’ﬂhcnt.
'(b) Write a brief note on Design of ap HEiitor.
(¢) Explain synthesized and Inhq‘:*g?ed attrlbutes used in Syntax Directed
. Definition. <“
(d) Find FIRST and FOLLOW {;,éf for given grammar below 5
' E-~>TE E’-—a»+x~’E’[s .
T—=FT T’——)*wa’[s
F - (E) F = S
\M .
4, (a) Explain dlffcregn‘t Fode Optimization technics along with an example. 10.
(b) Forthe followng grammar construct LR(0) parser table 10
S aCDe \{\ ‘
C— Cbc~

C—->b,v

“&’arse the string abbcbede. Show contents of stack and i/p buffer and
Eﬁ?ion taken after each step. :
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5. (a) Draw and explain DAG and reptesent the followmg example. w1th it. 1/2.\
(@a/b)y + (a/b)#* (c*d). o
(b) What are the different phases of Compiler ? Illustrate compilers znternai"’ 10

representation of source program for following statement after each phase )
Amount==P+P *N*R/100

" 6. (a) With reference to Assembler explam following tables with suxtab‘e:\cxample 10

@ POT : (i) MOT. _
(iiiy ST , (ivy LT e
(b) What are the different issues in demgn of Code Generator ? bxplam with an 10
example. _ ‘
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MNB 1) Question Mo, 1 s compulsory.
{21 Atteraipt any three questions oyl of rermaning five.
13} Figuees v the right indicase $ult marks.
{4} Assume suitable dats wherever required.

Lo Develop the SRS for the following scenario - {20y
A school has one or more depariments. Department offers one or more suitjects,
A particular subject will be offersd by only ome depariment. Departmient has
instructors and instructors can work for ane or moee departments. Siidens can
enrol in up 1o 5 subjects in 4 sehool. Instructor can teach up o 3 abiects, The
s Subject can be taught by the different instrostors, Students-gan be enrofled
in maore than ong schoot, R
SRS for the school stwnald inclode the follawing:

A Product perspective

b. Scopeand objective E
¢. Functional requirerents e
d. Non-Funetional requirements

A dad Explain and compane FTR and walkthroug) 4}
(b} Explain the process of CMM, s 10}

AL

3. {8} Explain coupling & cohesion. Explain different types of coupling & [10]
enhesion. S

(b What are Agile process and its advantages? Explain any one Agile process. {HO]

4. {8} Explain the change i:ﬂﬂtrg;ﬁpg&ﬁ(df versian control sctivities in SCM, { Hixg
{b)y Differentizte between black box testing and white box tesiing. Explain in iR
detuil about any une tsiing taal.

3. da) TWhat are the Jdifferent types of maintenance and alse explain steps for 1Y
crealing & maindiance log?

{h)  What is user Wiertace design process? Explain with one example. {143}
. J\
6. Wrlte short nogsi onany 1wa)
{1} Risk mivagement, ' [16
{b}  Revetse Engineering. {10
) dee-Oriented Software Enginsering. FLEES

{4y Cbdect oriened wsting methods, f1et]
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N.B.:

1. a)

b)
c)
d)

b)
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(3 Hours) [ Total Marks :

(1) Question No.l is Compulsory.
(2) Attempt any 3 questibns out of the rest
(3) Figure to the right indicate full marks.
(4) All question carry equal marks.
What are advantages and disadvantage of Distributed DBMS <
What are the features of DDBMS?
Explain the basic Timestamp Ordering Algorithm. \f-'-"::;"' ‘
What are the ob_]ectwes of Distributed Query Processm 57

What is horizontal and vertical fragmentation? : ‘Nhat are the types of
horizontal fragmentation. Perform honzomal fmgmentatmn for student
relation as given below.
Also give the correctness criteria for it.
Student (Studentrollno Student Name, ,Oourse Name, Course Fees, year)
What are the various kinds of transparcﬁ#fes in distributed database design?
Explain each with the help of an ex@mple
What are the various concurrene'y control techniques? Compare Lock based
Concurrency Control strategf%vs in detail.
Compare Distributed Dbhdlock prevention to Distributed Deadlock
Avoidance. Explain one: mcheme of Distributed deadlock Detection and
Recovery. e
A banking databa&gé“ should contain the customer's information along with
the types of abcounts customer is maintatining. Customer information is
its full profgj:e information along with his current address, PAN ID, adhar
Card no. zﬁ““iuded and account information should include type of account
(Savme;{‘ffmed demat, recuring, current), date and time of access and the
tranvﬁj‘: tions details.
i) ;=" Write the DTD rules for the above XML documents.
1*1 " Create an XML schema for the above XML document.

b)\\ “What are homogenous and heterogeneous database. Give the architecture

of heterogeneous databases along with some query processing issues.
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10
What problems can occur in a distributed system due to the failure of link o
and partitioning of the network? What are the ways by which recovery cﬂf@i}_}f
take place? o
Explain the phases of query processing in distributed database.

20

6 Answer any two:

a)
b)
c)
d)

Bond Energy Algorithm A
Design issues of Distributed Database o
3PC _ .
Transaction management model for distributed Systep.”
’ PR
o
g
(f'-fu’
oo
-~
£
B
A
w
L
2y
A8V
e
R
)
&
PN
. (\{\ T
&'
. ‘*:a'{“
*sz rd




Tﬁfmzrfc,ggc,jj MCcC /COMP.

Q.P. Code : 581800

(3 Hours) | Total Marks :

N.B. : (1) Question No.l is Compulsory.

(2) Attempt any Three questions out of remaining questlons
(3) Make suitable assumptions whenever necessary.

. 2) Explain in short how Hidden Station Problem is Avoided in WLAN

b) What are the Deployment issues of WLL? v

c) What are the general problems of satellite signals travei‘lmg from a
satellite to a receiver 7 S

d) Explam how Mobile originated call (MOC) work.. 5

¢) What are the characteristics of SIM ?

a) Why is Mobile IP packet required to be fo;W’&tded through a tunnel
Explain IP-in-1P Techniques of encapsulanon sf mobile 1P packet.

b) What are the modifications require to an,fmlstmg GSM. network to be
upgraded to GPRS, Explain with the h;:)i*) of diagram.

. a) Explain in detail HIPERLAN/1 phvmu,a[ layer.

b} Explain in detail4G architecture, &

{-
/i,j«’

a) Explain in detail Bluetoothrrr“otocol Architecture.
b) What are the security 1s lICb in mobile Computing.

. a) Compare HIPERLAN,:, BLUETOOTH IEEE 802.11.

b} What are the dlfferi;ﬁt types of Handover in GSM ?Explain in Detail
Intra-MSC hand,Wer

. Write short I’lOtb:.;\H on the following.

a) Role of SQMR register in satellite roaming,
b) Andrmd éomponents

c) Locat%@ﬁ management HLR-VLR scheme.

d) Dkgftal Signature.

(‘.\ -
"*‘vl i ’

T oglsTeolg

80

10

10

10

10

16

10

10

10

10

10



S



